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õik

m
u
u
tu

sed
v
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tä
isn

u
rga

m
u
u
tu

s,
st.

n
ih

e
x
y

tasan
d
il

γ
x
y

=
β

1
+

β
2

=
∂
u

∂
y

+
∂
v

∂
x
.

(3.5)



3
.1

.
S
iire

ja
d
e
fo

rm
a
tsio

o
n

3
-

7

A
n
alo

ogiliselt
saab

leid
a

n
orm

aald
eform

atsio
on

id
(su

h
telised

p
iken

em
ised

)
ja

n
ih

-
ked

eform
atsio

on
id

(eh
k

n
ih

ked
)

teistel
ko

ord
in

aattasan
d
itel.

K
ok

k
u

saam
e

k
u
u
s

seost
d
eform

atsio
on

ikom
p
on

en
tid

e
ε
x ,ε

y ,ε
z ,γ

x
y ,γ

y
z ,γ

x
z

ja
siird

ekom
p
on

en
tid

e
u
,v

,w
vah

el:

ε
x

=
∂
u

∂
x
,

ε
y

=
∂
v

∂
y
,

ε
z

=
∂
w∂
z

,

γ
x
y

=
∂
u

∂
y

+
∂
v

∂
x
,

γ
y
z

=
∂
v

∂
z

+
∂
w∂
y

,
γ

x
z

=
∂
u

∂
z

+
∂
w∂
x

.

(3.6)

S
aad

u
d

seoseid
n
im

etatak
se

tih
ti

C
a
u
ch

y
võ
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õrran

d
it

otsitavate
su

u
ru

ste
ε
x ,

ε
y

ja
γ

x
y

m
ääram
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ü
ljatavalt

v
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ü
h
eselt

m
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Ü
h
ese

lah
en

d
i
saam

isek
s

tu
leb

sisse
tu

u
a

k
u
u
t

d
eform

atsio
on

ikom
-

p
on

en
ti

sid
u
vad

lisatin
gim

u
sed

(lisav
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lõigatu
d

v
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ääratu

d
H

o
oke’i

sea-
d
u
sega

iga
ko

ord
in

aattasan
d
i
jaok

s
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Ü

ld
ista

tu
d

H
o
o
k
e
’i

sea
d
u
s

3
-

2
3

3
.5

.3
P

in
g
e
te

a
v
a
ld

a
m

in
e

d
e
fo

r
m

a
tsio

o
n
id

e
k
a
u
d
u

L
iid

am
e

avald
ise

(3.23)
1

p
arem

ale
p
o
olele

ja
lah

u
tam

e
avald

ise
(3.23)

1
p
arem

ast
p
o
olest

su
u
ru

se
1E
ν
σ

x :

ε
x

=
1E

[σ
x

+
ν
σ

x −
ν
σ

x −
ν
(σ

y
+

σ
z )]

=
1E

[(1
+
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+
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sõltu
m

atu
t
elast-

su
sko

efi
tsen

ti.
A

n
isotro

op
se

keh
a

p
u
h
u
l

on
elastsu

skon
stan

tid
e

arv
lo

om
u
lik

u
lt

su
u
rem

.
K

u
n
a

an
isotro

op
seid

m
aterjale

on
m

itu
t

liik
i,

siis
tu

leb
va

jalik
elastsu

s-
kon

stan
tid

e
arv

m
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ääratu

d
sih

tid
es

13.

1
3V

t.
lisak

s
J
.
N

.
R

ed
d
y,

T
h
eory

an
d

A
n
aly

sis
of

E
lastic

P
lates,

P
h
ilad

elp
h
ia,

T
ay

lor
&

F
ran

cis,
1999

§1.4.6



3
.6

.
D

e
fo

rm
a
tsio

o
n
i
p
o
te

n
tsia

a
ln

e
e
n
e
rg

ia
3

-
2
9

3
.6

D
e
fo

r
m

a
tsio

o
n
i
p
o
te

n
tsia

a
ln

e
e
n
e
r
g
ia

J
o
on

is
3.5:

E
lem

en
taarristtah

u
kas

V
aatlem

e
lõp
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ü
ljates

k
õrgem

at
järk

u
v
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=
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+
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+
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+
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=
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järelik

u
lt

on
va

ja
v
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